
STORAGE  ASSEMBLY  INSTRUCTIONS

C
reated

for
free

by
https://foxyutils.com



M6X12
Bolt

STEP 1.

C
reated

for
free

by
https://foxyutils.com



M6X12

 Bolt

STEP 2.

C
reated

for
free

by
https://foxyutils.com



M6X12

 Bolt

M6 nut

STEP 3.

C
reated

for
free

by
https://foxyutils.com



M8X16 Bolt

D8 Spring washer

D8 Washer

STEP 4.

C
reated

for
free

by
https://foxyutils.com



M6X12 Bolt

M6 nut

STEP 5.

C
reated

for
free

by
https://foxyutils.com


